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VOLTAGE ERROR DUE TO INPUT OFFSET VOLTAGE
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OPA177
Total Vout Error due to initial offsets, bias and gain

VOS:= 60 LZV Ib:=2_8nA IOS:=2.8HA
VEos:=[vos+Ib'Rp'GNI VEib:=Ib'Rp'GNI VEios:=Ios'Rp'GNI
VEOS=O.000186V' VEi6=O.OOOO98V' VEiO§=O'OOOO98V

[Maximum total output voltage error]

RMS Error

v +V_ .. +V_ . =0.000383V 2 2 2
Eos "Eib "Eios B
JVEOS +VEib +VEios =0.000233V
OPA177
Change in Vout due to 20C temp rise
. =20 °K
rise
vV _=TC T I.:=TC T I =TC ST
0os 11 “rise b 12 " rise 0os 13 “rise
VEos'_[vosJ'Ib'Rp'GNI VEib:=Ib'Rp'GNI VEios:Ios'Rp'GNI
VEOS=O.OOOO77V' VEiB=O.OOOO42V' VEio§=O.OOOO6OV
[Maximum total output voltage error]
v +V_ .. +V_. =0.000179V 2 2 2
Eos "Eib "Eios _
JVEOS *Veib *VEios =0.000106V
OPA177
Change in Vout due to 5C temp rise
T ._.:=5°K
rise
vV _=TC T I.:=TC T I =TC ST
0os 11 " rise b 12 " rise 0s 13 “rise
VEos:=[vos+Ib'Rp'GNI VEib:=Ib'Rp'GNI VEios:Ios'Rp'GNI
VEOS=O.000019V' VEi5=O.000011V' VEio§=O'000015V

RMS Error

[Maximum total output voltage error]
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AD706
Total Vout Error due to initial

offsets, bias and gain

Vo§=100uV' IH=200pA Io§=150pA
VEos:=[vos+Ib'Rp'GNI VEib:=Ib'Rp'GNI VEios:=Ios'Rp'GNI
Y =0.000154V -6 -6
Eos V_.,=7.02200010 VV_. =5.26650010 V
Eib Eios
[Maximum total output voltage error]
Y +V_..+V_,. =0.0001l66V 2 2 2
Eos "Eib "Eios _
JVEOS +VEib +VEios =0.000154V
AD706
Change in Vout due to 20C temp rise
T . =20 °K
rise
vV _ =TC T I.:=TC T I =TC T .
os 2 1 " rise b 2 2 “rise os 2 3 " rise
VEos:=[vos+Ib'Rp'GNI VEib:=Ib'Rp'GNI VEios:Ios'Rp'GNI
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[Maximum total output voltage error]
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RMS Error

\Y +V_..+V_. =0.000045V 2 2 2
Eos "Eib "Eios _
JVEOS +VEib +VEios =0.000044V
AD706
Change in Vout due to 5C temp rise
T . =57
rise
VvV _ =TC -T . I.:=TC -T . I =TC T .
os 2 1 “rise b 2 2 “rise os 2 3 “rise
VEos:=[vos+Ib'Rp'GNI VEib:=Ib'Rp'GNI VEios:Ios'Rp'GNI
-5 -8 -7
\Y =1.10636710 V V_..,=5.266510 v V.. =1.053310 v
Eos Eib Eios
[Maximum total output voltage error]
\Y +V_.,.+V_. =0.000011V 2 2 2
Eos "Eib "Eios v fV_ fV_ -0.000011V
Eos Eib Eios




